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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8

9)

This question paper contains 34 questions. All questions are

compulsory.

This question paper is divided into two Parts : Part — A and Part — B.

Part - A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the
glven options as per the subject opted in Part — B.

Question numbers 1 to 16 and 27 to 30 carry 1 mark each.

Question numbers 17 to 20, 31 and 32 are short answer type questions.

Each carries 3 marks.

Question numbers 21, 22 and 33 are long answer type-I questions. Each

carries 4 marks.

Question numbers 23 to 26 and 34 are long answer type-II questions.
Each carries 6 marks.
There 1s no overall choice. However, an internal choice has been

provided in 7 questions of one mark, 2 questions of three marks,

1 question of four marks and 2 questions of six marks.
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W -
(BRI FH e T & foe aEie)
(a) 3Ta feAfHes 9 3 24,00,000 i qREFdf=T 1 56 FoRaT | 373 I3 1 PAH 384

Z 100 T h 9% ROTHAT bl 4% &3 T T shieh fopam | Tarshar =1 frifia feru
T SROTIAT <hl G oft -

(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000
YT

(b) 1 W%, 2023 I A feifieg 7 T 100 TS <, 10,000, 10% FIAT Sl 10%
fiftrmy w Feifira feran frmept e 10% it o fomen s | ot & fefme
mgrﬁaﬁrrﬁzr‘@ﬁ:

(A) % 2,00,000 (B) % 1,30,000
(C) % 1,00,000 (D) % 80,000

T T ITHT Teh T % FTSER & qUT 4:1 % AT 8 o1 sied § | S8 i # 1/4 Wi

% foru sfifer =l ush Fom ArggR s, T 38 uia: e & e fRa | e, st qen

fifer <1 7T T forTeM STaTE 2

A 2:1:1 B) 11:4:5

(C) 3:3:2 (D) 7:5:4

Tsh AEIe WA o foEed W T 34,000 % <R 9 | % 1,000 % SHER & M AT AT

TR T 60% hT IEeA T T8 | SHERT T SEell W HH & @Id ! A fohar S qen

[EEIRUNE: B

(A) o @@ 33,000 9 (B) «9-IH @@r % 1,000 9

(C) The @@ 19,800 F (D) eTeRW@rET % 14,200 §

% 1,50,000 <1 3G TRATTTT o 33 Tfqhet oh T AfG fershar &1 2 1,25,000 3 01 e

T /91 ot Tefee fohar et & @ 3 25,000 o6 319 bl ST foha e

(A) aY-gIH foEor H (B) TIfd @ |

(C) ISt T= @Td | (D) AH-FH FHRIISE @ |

(a) T, e a0 wh A <6l Ereier off | 31 #rE, 2023 i 9] HeTHe 8 TS | 1]
%I ¢ TRT T 2,17,000 T EEATAT 35h 0T GTd H L {71 T | W0 3 39 AT W
et 3ffRm, 1932 % TEUMT & JTHR N o1 T agafd € | 98 ¢ i
0] 1 TS & BT, T8 & :

(A) 9% dien (B) 6% e
(C) 12% i (D) 10% =i¥eh
CLC)
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PART -A
(Accounting for Partnership Firms and Companies)

(a) Arnav Ltd. purchased assets worth ¥ 24,00,000. It issued 9%
debentures of ¥ 100 each at a discount of 4% for payment of the
purchase consideration. The number of debentures issued to vendor

were :
(A) 24,000 (B) 25,000
(C) 30,000 (D) 28,000

OR
(b) On 1st May, 2023, Amrit Ltd. issued 10,000, 10% debentures of ¥ 100
each at a premium of 10% redeemable at a premium of 10%. Loss on

issue of debentures will be :
(A) % 2,00,000 (B) 1,30,000
(C) %1,00,000 (D) 80,000

Gupta and Sharma are partners in a firm sharing profit in the ratio of 4:1.
They admitted Preeti as a new partner for 1/4th share in the profits, which
she acquired wholly from Gupta. New profit sharing ratio of Gupta,

Sharma and Preeti will be :
A 2:1:1 B) 11:4:5
(C) 3:3:2 (D) 7:5:4

On the dissolution of a partnership firm there were debtors of ¥ 34,000.
Debtors of ¥ 1,000 became bad and 60% was realized from the remaining
debtors. Which account will be debited and by how much amount on the

realisation from debtors ?
(A) Realisation A/c by % 33,000 (B) Profit & Loss A/c by ¥ 1,000

(C) Cash A/c by % 19,800 (D) Debtors A/c by T 14,200

If vendors are issued fully paid shares of ¥ 1,25,000 in purchase
consideration of net assets of ¥ 1,50,000, the balance of ¥ 25,000 will be
credited to :

(A) Statement of Profit and Loss

(B) Goodwill Account

(C) Capital Reserve Account

(D) Profit and Loss Adjustment Account

(a) Riya, Rita and Renu were partners in a firm. On 31st March, 2023
Renu retired. The amount payable to Renu T 2,17,000 was
transferred to her loan account. Renu agreed to receive interest on
this amount as per the provisions of Partnership Act, 1932. The rate
at which interest would be paid to Renu is :

(A 9% p.a. (B) 6% p.a.
(C) 12% p.a. (D) 10% p.a.
OR
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(b) T, A T ST T TH H STR-SUE o FEIER & | T <Al Harfgi o geErd
o au o % Gt 99 sRE: € 1,56,000 99T % 1,08,000 & | ®H Y A3 Uit
% 2,80,000 fagifd &t 78 | T fol forem o f6 ISt 9w wrieRi & oy fawrsa
I HEntt | s T SR Sl & few et o |
(A) % 40,000 (B) % 12,000
(C) % 20,000 (D) % 32,000

6.  rHl IrfafEd, 2013 & FEEHi o AR Sfavfd Sfirm s 3u=m fe 6 § fohees forg
&1 Toha ST T :
(A) I/ BT T B % forg
(B) 33Tk Yed SIMH 39301/ 3T o e & fee
(C) RIS o TTH 92 g Rl 3raferfiad s o fag
(D) 3k =1 i 3feriad s & forw

7. (a) Toua fafiee 3 2 10 9% & 6,000 THAT A0/ BT 10% it w fFffia
T o ToTu 311ee 3t fepw | ey quf w0 @ stftrem &1 | wf svwr/9= afen
ST T T TR & o ot
JATEEd W — T 3, 3MMeied W — T 3 (fifeaw gfed), wom Im=-r © — T 3 9o A=
AT T — % 2 | 200 3971 /3 o Teh Geh ST A STTee o 91 & Toi Ui
ST T L AT | TS T T et T off

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000
GECH)

(b) T s 3 T 10 T & 5,000 FHAAT A0 /ITW 1, T 10% HfEm
Teriftra femem o e, 3 2 wfa 3iwr/3RR 6 3rf=g Jr=ET 1 PraE T8 e W g
(Forfeit) &t foram | g =g7am Tl i@ ot 57 37l /3= o1 g wea g9: fifia

Tora ST Hehan 7, B
(A) 5,000 (B) 10,000
(C) % 12,000 (D) % 50,000

8. (a) T ua®= i ug s o@n av-giH faf=m @rd o7& fohan S &t & 2
VIR SIS IR
(B) 3TE0 WA
(C) WTIERI =l YTdH fopam o feptrn
(D) HTEER 1 JaH
AT
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(b) Ravi, Vani and Tomi were equal partners in a firm. After the
retirement of Vani, the capital balances of Ravi and Toni were
% 1,56,000 and % 1,08,000 respectively. The new capital of the firm
was determined at ¥ 2,80,000. It was decided that the capital will be
in proportion of the profit sharing ratio of the remaining partners.

Toni will bring for deficiency of his new capital.
(A) % 40,000 (B) % 12,000
(C) % 20,000 (D) % 32,000 1

6. As per the provisions of Companies Act, 2013 Securities Premium cannot
be utilized for :

(A) buy back of shares

(B) 1issue of partly paid bonus shares

(C) writing off discount on issue of debentures

(D) writing off preliminary expenses 1

7. (a) Vishant Ltd. invited applications for issuing 6,000 equity shares of

% 10 each at 10% premium. The issue was fully subscribed. The
amount per share was payable as follows :
On application - % 3, on allotment - ¥ 3 (including premium), on first
call - % 3 and on final call - ¥ 2. Ashish the holder of 200 shares paid
the entire money along with allotment. The total amount received on
allotment was :

(A) % 18,000 (B) % 19,000
(C) % 25,000 (D) % 21,000 1
OR

(b) M Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a premium
of 10% for non-payment of final call of ¥ 2 per share. The minimum
amount at which these shares can be reissued as fully paid up will

be :
(A) 5,000 (B) 10,000
(C) %12,000 (D) 50,000 1

8. (a) Which one of the following items is not dealt through Profit and Loss
Appropriation Account ?

(A) Interest on Capital (B) Interest on Drawings
(C) Rent paid to partners (D) Partner’s salary 1
OR
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(b) e HIIER & Ja9 & aud W <1 feufa fomror 2 80,000 1 o= axfegfd =
oot @ o | A &fagfd 1 2 1,00,000 % € BT SHEH HRET T
% 20,000 <hT HHI T :
(A) TR @Td H AT e SITe |
(B) YHcuTeR @Td | ST feham STaT |
(C) @Teier % ot @t # = fea s |
(D) @T3ieRi % ot @t # S fepa s |
9. forsuy e vy ek W % TrIER § | i)y fommel 6 31a ° we fafvea ufyn 1 e
HT 2 | I W RN 15% a1fies g & gia ferarm Siar 2 | o & 37=q o His) &
JTET WSS 9,000 T | HIP] <h STTEVT T TS TG Tehall 77 o7
(A) 6WERH (B) 7% "WER T
(C) 4% 7éR 3 (D) 47EAH

freferfaa shreafens feufa w1 ufew i sea g 10 T 11 % ST &R

afefer qem Ty U wH § TSR A 9T 2:1 < 3TATd H o1 -g1iH 61 faveH s
& | 1 3T, 2022 1 3Fh! Teft sHAT: T 5,00,000 AT T 4,00,000 2t | 31 916, 2023
%I G BT TN H, hig HI FHREISH it & 99 HH 7 3 81,000 T I AW fid fopam |
ATSERI Tel@ o ITTAR St TS 10% a1fiies g & fezm s |

10.  3fefa <t It T =T i

(A) % 50,000 (B) % 45,000
(C) % 40,500 (D) % 54,000
11. 3fefd wa gy &1 Ot W s ffetfaa & @ fopm arquma § feam strem 2
(A) 5:4 B) 2:1
© 11 D) 8:1

12. (a) o1 OAT AT Teh B <hl AR o TUT 3:2 o AT § A1 a1 g1 St of |
IFhT GSft SFAST: % 5,00,000 TT X 1,00,000 &t | ST 8% aTfeh & § Yot W
=TS <1 3ATRRT off a2 3= T 5,000 Sid T8 Sl e § 9aq i It o |
foreht oft TTIeH & gd 3¢ @ % 1,75,000 o1 | faifoa fop S atet @y 1 9=

T AT BAT
(A) % 45,000 (B) % 30,000
(C) 37,500 (D) Z 40,000

et

(b) TR T firan U W % ATHER & | 3R T 20,000 TR S T JTf=pRT o;
Safes frar € 50,000 T Aa7 1 JTfeRr AT | AR 3R fra 1 daqq g
FH & 91¢ 31 TE, 2023 I TUT g Tt a9 H g Y T 5,60,000 AT |
JATRR ok YSTt @Td | ST <hl S aTelt Het TR 8f
(A) % 2,45,000 (B) % 2,65,000
(C) % 3,15,000 (D) % 3,00,000
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(b) At the time of admission of a partner, the Balance Sheet of the firm
showed a workmen compensation reserve of ¥ 80,000. The claim for
workmen compensation was estimated at ¥ 1,00,000. The shortfall of
$ 20,000 will be :

(A) debited to Revaluation Account

(B) credited to Revaluation Account

(C) debited to Partners’ Capital Accounts

(D) credited to Partners’ Capital Accounts 1

9. Vishnu and Mishu are partners in a firm. Mishu draws a fixed amount at
the end of every quarter. Interest on drawings is charged @ 15% p.a. At
the end of the year interest on Mishu’s drawings amounted to ¥ 9,000.
Interest on drawings was charged on drawings of Mishu for :
(A) 6 months (B) 7 % months
(C) 4% months (D) 4 months 1

Read the following hypothetical situation and answer questions 10 and 11.
Aditi and Saurabh were partners in a firm sharing profits and losses
in the ratio of 2:1. On 1st April, 2022 their capitals were T 5,00,000 and
% 4,00,000 respectively. Before any appropriation, the firm earned a Net
profit of ¥ 81,000 for the year ended 31st March, 2023. According to the
partnership deed, interest on capital was to be provided @ 10% p.a.

10. Interest on Aditi’s capital will be :
(A) 50,000 (B) % 45,000
(C) % 40,500 (D) % 54,000 1

11. Interest on capital will be provided to Aditi and Saurabh in which of the
following ratio ?
(A) 54 B) 21
) 11 (D) 8:1 1

12. (a) Vanya and Aanya were partners in a firm sharing profit and losses
in the ratio of 3:2. Their capital were T 5,00,000 and ¥ 1,00,000
respectively. Vanya was entitled to interest on capital @ 8% p.a. and
Aanya was entitled to salary @ ¥ 5,000 per month. The net profit
before any appropriation was % 1,75,000. Vanya’s share in divisible

profit will be :
(A) % 45,000 (B) % 30,000
(C) % 37,500 (D) % 40,000 1

OR

(b) Omkar and Shiva were partners in a firm. Omkar was entitled to a
salary of ¥ 20,000 p.a. while Shiva was entitled to a salary of
% 50,000 p.a. Net profit for the year ended 31st March, 2023 after
charging salary of Omkar and Shiva was ¥ 5,60,000. The total
amount credited to Omkar’s capital account will be :
(A) % 2,45,000 (B) %2,65,000
(C) %3,15,000 (D) 3,00,000 1
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13. wT=aT, W T 3 Uk WA & |Teier o | f9m 9 wH @ 10% a1 e T 1,00,000
ST 0T ST o | B o1 SETITA 0T T 6% dTNeh €L ¥ &7 & o f0 SIR ¢ @1 2 | Fsm
! fopm <0 8 0T WSS T St 2

(A) 6% dT¥eh (B) 10% =i¥eh
(C) 8% daiyeh (D) KU1 YT <hIS TSl T&! T Sa |

14. ANFHAT (A) : 978 FOMET W AT 61 PIAH 39 Ao i 6T ITam 8 ST 36 ThR

FOTIET H HeT™ SATeT HUH sl Td LA & |

SRl (R) : A8 FOTHAT I YTt o gRI SATANd [ohaT ST Hehal & 3T HI T
SRUTIS ETeh! <hT oh13 1LehiS &l Tl 2 |

Fr=feRaa o @ g2l foehe o1 ==H il

(A)  ATHA (A) TATHR (R) THT Tl § 3T HR (R), 3R (A) i T8l SRS 2 |

(B) ANReE (A) T %R (R) GHI T&T 7, Wfehd R (R), 3R (A) I T2
AT TR 8 |

(C) ANYEReA (A) T &, Sifehd HRUT (R) TTEd 2 |

(D) AMEHYA (A) T4 2, Tifeh SR (R) HET 2 |

15. anfec, fos aur fuy ues % o A1eieR & qeim S -3+ SteR-se §ied o | 1 9T,
2023 1 M 61 g &1 TS | IV IEICRI 4 FH 1 GG Ie] T@H 1 Ho fora
T 9o | 1T Wl 4:3 o UG H died 1 Fi form | oo qen fmw w1 stfeemy
AT 81
(A) 4:3 (B) 3:2
(C) 5:2 D) 11

16. AR (A) : Tl §Sht fafer & s, |meieri & doft @id Hed ST 919 gifd 2 |

SR (R) : w360 fafy & srofa, asft wel 99 ow =1 &1f &1 v, o6 W =,
JTETT, JTEWT T AT, 1 T Ueh STl WA H FohaT ST 8 S TTEIERT o 9o
GTd g & |

FrafaRea @ 9 w2 foepea =1 === Sifve

(A)  ATHET (A) TATHRT (R) SHT &l § 7UT HRUT (R), 3FheA (A) i T8l 2@ 2 |

(B) ANYRYA (A) 71 HR (R) GHI T&T &, wAfehd R (R), 3TMReH (A) I T2
T TE 2 |

(C) MR (A) & g, Tl R (R) T 2 |

(D) AR (A) TToTd B, ik 61 (R) 981 2 |
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13. Kanha, Resham and Nisha were partners in a firm. Nisha had given a
loan of ¥ 1,00,000 to the firm @ 10% p.a. The accountant of the firm is
emphasizing that interest on loan will be paid @ 6% p.a. At what rate the
interest on loan will be paid to Nisha ?

(A) 6%p.a. B) 10% p.a.
(C) 8%p.a. (D) No interest on loan will be paid. 1

14. Assertion (A) : Interest on bearer debentures is paid to a person who
produces the interest coupon attached to such debentures.

Reason (R) : Bearer debentures are transferred by way of delivery and
the company does not keep any record of these debenture holders.

Choose the correct option from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1

15. Aditya, Vishesh and Nimesh were partners in a firm sharing profits and
losses equally. Aditya died on 1st July, 2023. Remaining partners decided
to continue the business of the firm and decided to share future profits in
the ratio of 4:3. The gaining ratio of Vishesh and Nimesh will be :

(A) 43 B) 3:2
(C) 5:2 D) 11 1

16. Assertion (A) : Under the fixed capital method, partners’ capital
accounts always show a credit balance.

Reason (R) : Under the fixed capital method, all items like share of profit
or loss, interest on capital, drawings, interest on drawings are
recorded in a separate account called partners’ current account.

Choose the correct alternative from the following :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct. 1
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17. a1, @i a1 S T B b TSGR & GT 4:3:3 % TIITd § AT-1H 1 faIare
g | 1 378, 2023 | IR A1 I 1:2:2 % U1 § faviira o & fow weafa & 139
ferfer =1 wH 1 g&aehi 1 3 70,000 T FETT T o7 |
g HEAfd 5% foh
(i) W <l AT 3T Geiehd T 1,00,000 foram Swm |
(i) FEIRET o YR T QT3 o AMERTT 9 &TH 31 TRT T 40,000 off |
Y Shl JETeh] H ST -Gl o foTq ATereares TS Nfar i |

18. (a) 3TTYY TAT HY HPGR & TUT ATH SUSK-TSK §ied & | I8H A9 H TS 9H h

T 91 1 A1 WEeR §9H 1 vl forn | 39 Sevw o fou Wi <ht @t
ToTeh STTUCTHI o TR 91 oh $h¥ oh STET T et ST o |

31.3.2023 I 997  YaI31 | & W o1 fefef T fm yehm o

31.3.2023 =i 1YY AT F 1 Rl foremor
A ufir hemREt e
(9] ®)
ESE Aef 75,000
HES 90,000 B 15.000
ol 50,000 1,40,000 | ¥ 30,000
AT F 20,000 | gTeR 20,000
i 25,000 | g 50,000
EEG 5,000
1,90,000 1,90,000

el sh | € 12% STiYeh @ | TH ol TUSel IR a1 o1 31| o9 % 30,000
T | SATfcl § 91 < ST <hi 7O ST |
AT

(b) %I, TTEVT, ITEUT AT VT Ueh H b HTSIGR A AT 5:3:2:2 o AT H &1 died o |
31 W, 2023 I 376 HATHIT &l AT | TEOT, TR AT ST o HiTST § AR
S-SR S1e 31 TR T | 3707 o HaTi-e 8 T HH 3hi @I o1 Fomeh
%°9,00,000 fora T |
319 T I TTAT H ST §Y, ST QAT Wit ToHT SAThT 3 i@Tehd o fofg 3760
1 T TR 3TEREeh UsHme1 Sefd hif |

19. (a) wew fafies 4 S foafies @ T 4,50,000 =1 w5= qon wefiad =1 7 fomam | S0
feafirdg &1 WM T 50,000 T Th = <ot AT AT & fot T 100 T & 6%
FRUTIHAT Bl 20% og T Fifera shees fopam i |
Y -l o foTe g feafiree <t qaent § SATarvares UsHme=n gfafsat i |

CLEN
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17. Nita, Mita and Karan were partners in a firm sharing profits and losses
in the ratio of 4:3:3. With effect from 1st April, 2023, they agreed to share
profits and losses in the ratio of 1:2:2. On that date, there was a General
Reserve of ¥ 70,000 in the books of the firm. It was agreed that :

18.

19.
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Goodwill of the firm be valued at T 1,00,000.

(1) Loss on revaluation of assets and re-assessment of liabilities

amounted to ¥ 40,000.

Pass necessary journal entries for the above transactions in the books of
the firm.

(a) Aayush and Krish are partners sharing profits and losses equally.

(b)

(a)

They decided to admit Vansh for an equal share in the profits. For
this purpose, the goodwill of the firm was to be valued at four years
purchase of super profits.
The balance sheet of the firm on 31.3.2023 before admission of Vansh
was as follows :

Balance Sheet of Aayush and Krish as on 31.3.2023

Liabilities Amount Assets Amount
® ®

Capitals : Machinery 75,000

Aayush 90,000 Furniture 15,000

Krish 50,000 1,40,000 | Stock 30,000

General Reserve 20,000 | Debtors 20,000

Loan 25,000 | Cash 50,000
Creditors 5,000

1,90,000 1,90,000

The normal rate of return is 12% per annum. Average profit of the
firm for the last four years was ¥ 30,000. Calculate Vansh’s share of
Goodwill.
OR

Varun, Tarun, Arun and Barun were partners in a firm sharing profits
in the ratio of 5:3:2:2. Arun retired on 31t March, 2023. Varun, Tarun
and Barun decided to share future profits equally. On Arun’s
retirement, Goodwill of the firm was valued at ¥ 9,00,000. Showing
your workings clearly, pass the necessary Journal entry for treatment
of Goodwill on Arun’s retirement without opening goodwill account.

Mahesh Ltd. purchased Plant and Machinery from Ish Ltd. for
T 4,50,000. T 50,000 was paid by cheque to Ish Ltd. and the balance
by issuing 6% debentures of ¥ 100 each at a discount of 20%.
Pass the necessary Journal Entries for the above transactions in the
books of Mahesh Ltd.

OR




20.

21.

(b) HiUhT T 7 T 100 I & 500 370 /3”[ &1 801 (Forfeit) T 20 Uid
3TR1/3RR T TG AT q>T X 25 Wi 37/ 1 gEA qAT HA{H AT
YA T8 i T fofm | 90 | 250 3791 /3 1 T 50 Wl 3791 /37 9 qui
yed yA:frifea st feam mm | 7T/ % ' (Forfeit) @em ga:fnfga <
st Tferfsat shifsm |

TS 3R 3] T HY o AIRGR I AT 1:2 % UG § v -gTH ol fause d o |
3I7eht Trf St sREST: € 6,00,000 9T ¥ 3,00,000 &t | T % WA IR T o ¢ I8
T e T ok AT < TS | qd A9l Ho@ W STIER 12% i & 8 TSl W
TSt fem ST o ; 8 Areier o ISt @rdi O ST @ foha TR |
eI TR U= Sfafd i | 370 Rl ! TaedT 8 gIisy |

T, e FuT U AR A qAT 2:3:1 % JUTd H o1 died o | 31 941, 2023 1 361

et feremor fon wepm o
31.3.2023 = T, U e Ag w1 fRafe feamor
A R ®) it R ®)
TTER 3,62,000 | e 14,000
Y qY 18,000 | i 2,96,000
it wih 80,000
TH 1,00,000 S 3,00,000
o 2,00,000 HeT : Giey RN %
s 3,00,000 6,00,000 | feru srarem 10.000|  2,90,000
IECH) 50,000
i 2,50,000
9,80,000 9,80,000

30 THAwR, 2023 %1 e hl J Bl 715 | Teh HTSHGR 31 o T ATHEN Hord H 7 1

BIERICRZ 1IN

() AT T AT U i oSt o 3NEd @1 % €1 N1 o $hY o YR T T JE |
foset 9 a9t & &9 9 : 2020-21 T 45,000; 2021-22 T 90,000 AT 2022-23

% 1,35,000.

(i) gcg i Teifer Tk Gk TTSICR < ATH <hI TTUMET fUscl T a1 o 3TEd AT % IR T

61 IRt |

TEH o IAUTTRTIET ol T i o foTT IHeRT Yit AT IR I |
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20.

21.

(b) Manika Ltd. forfeited 500 shares of ¥ 100 each for non-payment of
first call of ¥ 20 per share and second and final call of ¥ 25 per share.
250 of these shares were reissued at T 50 per share fully paid up.
Pass the Journal Entries for forfeiture and reissue of shares.

Rajesh and Anu were partners in a firm sharing profits and losses in the
ratio of 1:2. Their fixed capitals were ¥ 6,00,000 and % 3,00,000
respectively. After the accounts for the year were prepared, it was noticed
that interest on capital @ 12% p.a., as provided in the partnership deed,
was not credited to the capital accounts of partners before distribution of
profits.

Pass the necessary adjusting journal entry. Show your workings clearly.

Ram, Ravi and Rohan were partners sharing profits in the ratio of 2:3:1.
On 31st March, 2023, their Balance Sheet was as follows :

Balance Sheet of Ram, Ravi and Rohan as on 31.3.2023

Liabilities Amount }) Assets Amount })
Creditors 3,62,000 | Cash 14,000
General Reserve 18,000 | Bank 2,96,000
Capitals : Stock 80,000

Ram 1,00,000 Debtors 3,00,000
Ravi 2,00,000 Less : provision for
Rohan 3,00,000 6,00,000 | doubtful debts ~__10.000 2,90,000
Investments 50,000
Land 2,50,000
9,80,000 9,80,000

Rohan died on 30th September, 2023. On the death of a partner the
partnership deed provided for the following :

(1) Goodwill was to be valued at two years purchase of average profit of

last three years. The profits for the last three years were :

T 45,000, 2021-22 T 90,000 and 2022-23 T 1,35,000.
(1) Deceased partner’s share of profit till the date of his death will be

calculated on the basis of average profit of last three years.

Prepare Rohan’s Capital Account to be rendered to his executors.

67/4/3/21/QSS4R
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22. Tt fafies ¥ 100 Y& 6 75,000 370/ H fawemd % 75,00,000 1 3feehd ISt
< |1 Tsfihd ot | SHFOT A 45,000 37T /3R o FTHH 6 foTe 31Tere smifa feru |
TR o1 YT e TP & < o
FEE W - ¥ 30 Ui 397/, & T — T 30 T 3797 /3IR, TUH AT T — T 25
fer 3797 /IR AT AT I AT W |
42,000 31971/ o6 fIu. 3Eie W g am |t STTaen] i 3Teed L fen T |
I, f@ 3,300 3791/ 1 A& fohaT T AT, ST AT T P HH H
G &I | 3Heh 370 /I b1 80T (Forfeit) T foram mam |
st arfarfem, 2013 <t SR 111, 9T 1 < aR Sra o feufa foamer § ot /9rr
St S ST | @t < Aed o §E1ET |

23. (a) 3AToRIT TUT VTGS Teh HH o TTHGR & AT 7:3 % UM H oY §ied & | 31 974,
2023 =l I9ehT Terfe feramor fg wehm o
31 W=, 2023 Y 3k a1 wraw 1 feafa faemor

®) ®
TR 60,000 | TTe 36,000
3T TGt 9,000 | GTER 54,000
YA e 15,000 | =27 : Hfewer swon
iU yEyE  6.000] 48,000
it Wi 60,000
CIECaN) 1,20,000 He 1,20,000
BICH) 1,80,000/| 3,00,000 | wef=dt 1,20,000
3,84,000 3,84,000
1 379, 2023 I I8 AT H 1/4 T o TI¢ =T8d ol 7T a1 W Teh 731 HTEIER
ST :
(i) =mead I UGSt o ' H T 90,000 T TN T o6 37U 9T % folw
% 30,000 STET |
(ii) 3TGT TIGH hT YT T TeT ST |
(iii) e ol 10% A ThIT T |
(iv) % 6,300 % TH SR, Frwent oi@m gdent § T4l T w2, o1 o feman
SRAT |
Y Shl JETeh] H ST -Gl o 1T ATereares TS Nfat i |
GO
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22. Ronit Ltd. was registered with an authorised capital of ¥ 75,00,000
divided into 75,000 equity shares of ¥ 100 each. The company invited
applications for issuing 45,000 shares.

The amount was payable as follows : T 30 per share on application, ¥ 30 per
share on allotment, ¥ 25 per share on first call and balance on final call.
Applications were received for 42,000 shares and allotment was made to

all the applicants. Charvi, to whom 3,300 shares were allotted, failed to

pay both the calls. Her shares were forfeited. Present the share capital in

the Balance Sheet of the company as per Schedule III, Part I of the
Companies Act, 2013. Also prepare notes to accounts. 4

23. (a) Anikesh and Bhavesh are partners in a firm sharing profits in the
ratio of 7:3. Their Balance Sheet as on 31st March, 2023 was as

follows :
Balance Sheet of Anikesh and Bhavesh as on 31st March, 2023
e eqses Amount Amount
Liabilities ®) Assets ®)
Creditors 60,000 | Cash 36,000
Outstanding wages 9,000 | Debtors 54,000
General Reserve 15,000 | Less : Provision for
doubtful debts _ 6,000 48,000
Capitals : Stock 60,000
Anikesh 1,20,000 Furniture 1,20,000
Bhavesh 1,80,000 | 3,00,000 | Machinery 1,20,000
3,84,000 3,84,000

On 1st April, 2023 Chahat was admitted for 1/4th share in the profits

on the following terms :

(1) Chahat will bring ¥ 90,000 as her capital and ¥ 30,000 as her
share of Goodwill premium.

(11) Outstanding wages will be paid.
Stock will be reduced by 10%.

(iii)

(1v) A creditor of ¥ 6,300, not recorded in the books, was to be taken

into account.

Pass necessary Journal Entries for the above transactions in the

books of the firm.

67/4/3/21/QSS4R
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(b) T, rfex e fohaT Ush WY % ATRER & aAT 7:2:1 % U H @19 Sied o |
31 |1, 2023 i 3eh1 fRufd feremor fr yepm o -

31 W, 2023 w1 ST, wrfer g ferarH = feufe feemor

A TR iRt TR
®) ®
it i 12,00,000
EE]] 9,60,000 o 9,00,000
HIfet  8,40,000 HTeR 3,60,000
fp™ 9.00.000| 27,00,000 | =ik 6,60,000
qT= 999 3,00,000 | eer 6,00,000
HIR @ffd g 5,40,000 | =T : Hfewer ol
e 3,60,000 | Ffuy@s™ 30,000/ 5,70,000
e 1 T 2,10,000
39,00,000 39,00,000

3w fafer st frferfad st w shifet Sanfres &
(i) W <l TATH T Godieh T 12,00,000 fora 1T |
(ii) T 30% | TG TR GAT 9 W 2 3,54,000 H GG THTIET SRR |
(iii) TR T 6% T I ohIT ST |

(iv) MR &fagfd et 2 1,40,000 fgifa & 73 |
(v)  ohTIeL <l < TR < 3Geh YT WA H B&ATa A ohT fedm T |

(vi) 7% WH &I FA G T 16,00,000 Feifd i 18 FERT THRISH 36 T

AT - TaWTSH STATd | <o) @Td @icteht fehdl ST |
QIR T T HTEIGRT o Yeft @I G HifT |

24. (a)

st TAfieg 7 T 10 T & 2,00,000 THAT 370 /IR 1 20% Hiftrem 3 frifa
i o foTu amree smufia fopu | wfa ater/3R Uit o1 Jram e TR @ < o
AT W — T 5, 3MEA W — T 4 (i afeq) qon A9 yom ug 3= IJ=E1 | |
SHAT 4 3,20,000 370/ & foiw 3mees feu, f=Ed @ 20,000 3900 /390 +
TG 1 T& L T T3 qem 99 3ATegeh] i SIS IR 9T 370 /3 61
TS L fe=m =T | 15,000 =M /34T <hY Teh HATaceh ohieidl 38 qT Ir=ET T

ST YA L H 316 TEl | 35eh 3901 /IR 1 801 (Forfeit) ST feram = |
ST <hl JEehi H ST TiH—¢rl oh ToTT STTaeeh UsHTH= SfafSat shifer |
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(b) Prina, Qadir and Kian were partners in a firm sharing profits in the
ratio of 7:2:1. On 31st March, 2023 their Balance Sheet was as follows :

Balance Sheet of Prina, Qadir and Kian as on 31st March, 2023

Liabilities Amount Assets Amount
®) ®)

Capitals : Land 12,00,000

Prina 9,60,000 Building 9,00,000

Qadir 8,40,000 Furniture 3,60,000

Kian 9.00,000| 27,00,000 | Stock 6,60,000
General Reserve 3,00,000 | Debtors 6,00,000

Workmen’s Less : Provision for

compensation Reserve | 5 40,000 | doubtful debts _ 30,000| 5 70,000

Creditors 3,60,000 | Cash at Bank 2,10,000

39,00,000 39,00,000

On the above date Qadir retired. Following was agreed :
(1) Goodwill of the firm was valued at % 12,00,000.

(11) Land was to be appreciated by 30% and building was to be
depreciated by ¥ 3,54,000.

(111) A provision of 6% is to be maintained on debtors.

(iv) Liability for workmen’s compensation was determined at
% 1,40,000.

(v) Amount payable to Qadir was transferred to his loan account.

(vi) Total capital of the new firm was fixed at ¥ 16,00,000 which will
be adjusted according to their new profit ratio by opening
current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

24. (a) Lazal Ltd. invited applications for issuing 2,00,000 equity shares of ¥ 10
each, at 20% premium. Amount per share was payable as follows : ¥ 5 on
application ; ¥ 4 (including premium) on allotment ; and balance on first
and final call. Public applied for 3,20,000 shares, out of which applications
for 20,000 shares were rejected and shares were allotted on pro-rata basis
to the remaining applications. Kavita, an applicant of 15,000 shares failed
to pay allotment and call money. Her shares were forfeited.

Pass necessary Journal entries for the above transactions in the
books of the company. 6
OR
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(b) =g fafiee 3 T 10 3% & 1,00,000 THAT /IR T T 2 Tl 379/IRR
fftrem w frifir s & fore smae st o | fe st /e afdn 1 ymam fe
YR ¥ ¢ AT : 3T W — ¥ 4 (fiftrm wfga), s&ed w — T 5 9ur 99 yom
=W F=AT 91 1,80,000 370 /3R % T 31eed s g€, {598 @ 30,000
IS/ o TG bl & hL feam TR qem 99 SA1dgeh! Sl STHUTde SR W
39T/ BT AT HL feam T | AEE S 5,000 30 /A H e off g we
=T ATEAT T PIAH U § 31T T aUT 3Heh 390 /IR 1 801 (Forfeit)
ot T |

U ST o ToTT ot <hl J&ehl | 3TTereeh UsHH= Tfafdat Sifs |

25. faft= afwmafai (e o S & srfafed) aun g vt qoarsti o ageft @ §
TG i o U9 Hifgd aur Ufgd 61 areiert v o forered w f=fafaa -t
o ToTu 3Tervareh UsHm=T Siaisat hifer ;
() T e, foeent agiaa gedr € 10,000 o1 qn frept oraT, wr@T-geden | el
feram e o, Mfga A T 7,000 A A |
(i) Ufgd s T 15,000 % 0T 1 T 13,500 | Teame gerar s feam |

(iii) W9 % 9™ T 1,00,000 & o= & | Wifed 7 50% e=m &b 10% §g W o2 |
afes 39 e &1 T 60,000 | 9= fezm i |

(iv) g == T 23,000 9 |
(v) % 45,000 % fafae oeri &1 2 2,000 6 e T f&ame gehar st fem mi |
(vi) ¥ 12,000 3l Sl i g1 I AR o = 3eh ey -faarei S1uma ¥ sfe fe

T |

26. Trfafea afdeafaat & gom fafiee i qedhi § ol & ol qen ol & e
w3 /2R T suRTRad w3 T steavees UsmmmEr sfafdet Sif -
1) ¥ 1,000 T & 900, 6% FOTIHAT T FHT 5% &g W T T, et weq
e R fohar stram | wfeufe shftem @ 19w 2 50,000 2 |
(i) T 1,000 I & 700, 8% FOTHHT T A 10% s W T mm, fomept sem
10% Sifererm wx feram smem | feryfa siftem @a 199 2 1,00,000 7 |
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(b) Chand Ltd. invited applications for issuing 1,00,000 equity shares of
% 10 each at a premium of ¥ 2 per share. The amount per share was
payable as follows : ¥ 4 (including premium) on application, ¥ 5 on
allotment and balance on first and final call. Applications were
received for 1,80,000 shares of which applications for 30,000 shares
were rejected and remaining applicants were allotted shares on pro-rata
basis. Mansi holding 5,000 shares failed to pay first and final call
money and her shares were forfeited.

Pass necessary Journal entries for the above transactions in the
books of the company. 6

25. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Mohit and Rohit after the various
assets (other than cash and bank) and the third party liabilities have been
transferred to realisation account :

(1) A machine which was not recorded in the books was taken over by
Mohit at ¥ 7,000; whereas its expected value was ¥ 10,000.

(1) Rohit’s loan of ¥ 15,000 was settled at ¥ 13,500.

(111) The firm had investments of ¥ 1,00,000. Mohit took over 50% of the
investments at a discount of 10%, while the remaining investments
were sold off for ¥ 60,000.

(1v) Realisation expenses amounted to ¥ 23,000.

(v) Sundry creditors amounting to ¥ 45,000 were settled at a discount of
% 2,000.

(vi) Loss on realisation ¥ 12,000 was divided between the partners in
their profit sharing ratio. 6

26. Pass necessary journal entries relating to issue of debentures and to write
off discount/loss on issue of debentures in the books of Srijan Ltd. in the
following cases :

(1) 900, 6% debentures of ¥ 1,000 each are issued at 5% discount and
redeemable at par. Balance in Securities Premium account 1is
% 50,000.

(11) 700, 8% debentures of ¥ 1,000 each are issued at 10% discount and
redeemable at a premium of 10%. Balance in Securities Premium
account 1s ¥ 1,00,000. 6
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i -g
fepea -1
(Ferfir ferarot =1 fergetwon)

27. (a) U1 : foxhia orRameheTrdi 1 Trary Ush 3em <l drelehtiorss MR G T 7 |
YA 11 : it ohaTehaTdl | 3cd=1 8H aTel Ushe YaTal i JUeh €9 § Fehe HET
Hecaqul & i g fafiferee st 2 o6 fora dim e wiet mr qen Aeve
JATE o1 3cd i oh oIT HETEHT I Gl fehdT TRIT R |
Tr=feRaa @ @&t foehea 1 w57 i
(A) H 1 AATHYT IS T 8 |
(B) ¥ I du1 Y [ Q1 el & |
(C) F[TAd 8 M HIA I TS 2 |
(D) %Y [ TE 8 TN HYF [T 2 |
GO
(b) ‘AT AT AT BT YIAH' - T Uehg TaTE Teraror 9 =11 JoTel ET 2
(A) TN fRamhal | Sfgdts |
(B) Tyawr fpamepel © sfgaig |
(C) Terfiam Tsramshemi 4 sfgals |
(D) {ehg ToITE TR IS IuTE & |

28. T ) fosmg )
IECH 2,00,000 1,80,000
ECI] 3,00,000 —

ol g1 & ‘R fpaenetrdl & g waTg’ 81
(A) T 3,20,000 HA=<dTg (B) % 3,20,000 sfgdig
(C) % 20,000 sfgate (D) % 20,000 F=<EiE

29. (a) ‘Tori forawon o forgeivor i 98 debrieh ST Ueh 3 shl TIYICdT, IMEFETHAT qei
HRITHAT ST AThe i T TERIAT LT 7, A ST & -

(A) ke vaTE foaao (B) qeTcHeh fereron
(C) T 3R fereror (D) ATa forgeryor
YAl
(b) __ 3T SIIE SFIT b A9  oft AT S1ar & |
(A) =ITe] AT (B) e U
(C) GoheT @Y U (D) e Wy T
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PART -B
OPTION -1
(Analysis of Financial Statements)

27. (a) Statement I : Financing activities relate to long term funds or
capital of an enterprise.

Statement II : Separate disclosure of cash flows arising from
financing activities is important because they represent the
extent to which expenditures have been made for resources
intended to generate future income and cash flows.

Choose the correct option from the following :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is incorrect and Statement II is correct.

(D) Statement I is correct and Statement II 1s incorrect. 1

OR
(b) What will be the effect of transaction ‘Payment of employee benefit
expenses’ on the cash flow statement ?

(A) Outflow from operating activities.

(B) Outflow from investing activities.

(C) Outflow from financing activities.

(D) No effect on cash flow. 1
28. Purchased ) Sold })
Investments 2,00,000 1,80,000
Goodwill 3,00,000 —
From the above information, ‘Cash flows from investing activities’ will be :
(A) Inflow X 3,20,000 (B) Outflow % 3,20,000
(C) Outflow % 20,000 (D) Inflow % 20,000 1

29. (a) The tool of ‘Analysis of Financial Statements’ which helps to assess
the profitability, solvency and efficiency of an enterprise is known as :

(A) Cash flow statement (B) Comparative statement
(C) Common size statement (D) Ratio analysis 1
OR
(b) __ 1s also known as the Acid Test Ratio.
(A) Current ratio (B) Quick ratio
(C) Gross profit ratio (D) Return on investment ratio 1
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30. wmw fafide #1 @@ FgUE 1.5:1 8 | FefaRad § & fora o9-¢F =1 afomm 5@
IATd | it geft 2
(A) T 10,000 ARTA sl F&37 1 T 12,000 H S=T1 TR |
(B) SR ITRT & T 41,000 Uehe UehiId feham 7T |
(C) T 38,000 % TIC HTcT b1 sHY fehal 77T |
(D) FERI I ¥ 11,000 T JTa feram T | 1
31. e rfafRm, 2013 3 g 111, 9T 1 o SHR T HeHT o et foero 3 f=
T ol fohl G Sfiehi T 3U-3fveni (Afg 15 ©) o A= S TehalT SITTT 3
() dsa st (i) T0m U 3T (iii) TR TUT TR e
32. U feiftee 1 i Wi /T@hi € 1,00,000 7 761 Wieh 3Tex 3HI 6 AT & | I e
] ST § AT W 25% SATH I =1 7T 8 A S=Ter § 3707 <hl TRT <hl T0HT <hIfSTT | 3
33. (a) T g=a1 & waw fofide 1 amm= smer feuf foawor dam <hifse 4
31 9, 2023 @ taq fafies o1 feufy faawon
TeraTor ded. | 31.3.2023 31.3.2022
(9] (9]
[. OUdrug eI :
1. 3Ty /SRR et
(a) EHaT 37/ Y 30,00,000 15,00,000
(b) T= UL TR 10,00,000 5,00,000
2. IS <FaNd 20,00,000 20,00,000
3. 9o A 20,00,000 10,00,000
FA 80,00,000 50,00,000
0. viEmfeEr:
1. 7= gfemfaEt 40,00,000 30,00,000
2. =T aiEEREt
(a) T () 40,00,000 20,00,000
FA 80,00,000 50,00,000
GO
(b) T g @ a8 ferfies &1 qerTesh ey -1 foraor dam hife
et 31.3.2023 31.3.2022
eI 3T (%) 40,00,000 20,00,000
ST Rieh 1 36T (3) 24,00,000 12,00,000
T2ieh U IR (ST Tieh sha T %) 25% 20%
I = () 2,00,000 1,60,000
R 40% 40%
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30.

31.

32.

33.

(D) Creditors were paid T 11,000. 1
Under which Major Heads and Sub-Heads (if any) will the following items
be presented in the Balance Sheet of a company as per Schedule III, Part
I of the Companies Act, 2013 ?
(1) Capital Advances (11) Income received in Advance
(111) Stores and Spare Parts 3
The average inventory of AB Ltd. is ¥ 1,00,000 and the inventory turnover
ratio is 6 times. Calculate the amount of revenue from operations if goods
are sold at a profit of 25% on revenue from operations. 3
(a) Prepare a Common Size Balance Sheet of X Ltd. from the following
information : 4
Balance Sheet of X Ltd. as on 31st March, 2023
Particulars Note | 31.3.2023 31.3.2022
No. ®) ®)
I. Equity and Liabilities :
1. Shareholders’ funds
(a) Equity Share Capital 30,00,000 15,00,000
(b) Reserves and Surplus 10,00,000 5,00,000
2. Non-current liabilities 20,00,000 20,00,000
3. Current Liabilities 20,00,000 10,00,000
Total 80,00,000 50,00,000
II. Assets :
1. Non-current assets 40,00,000 30,00,000
2. Current assets
(a) Inventories 40,00,000 20,00,000
Total 80,00,000 50,00,000
OR
From the following information prepare a Comparative Statement of
Profit and Loss of Y Litd : 4
Particulars 31.3.2023 31.3.2022
Revenue from operations (%) 40,00,000 20,00,000
Purchase of stock in trade (%) 24,00,000 12,00,000
Change in inventories (% of purchase 25% 20%
of stock in trade)
Other expenses (%) 2,00,000 1,60,000
Tax rate 40% 40%
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Quick ratio of Megamart Ltd. is 1.5:1. Which of the following transactions
will result in decrease in this ratio ?

(A) Sale of goods costing ¥ 10,000 for ¥ 12,000.

(B) Cash collected from trade receivables ¥ 41,000.

(C) Purchase of goods for cash ¥ 38,000.




34. 31.3.2023 i 9Rd 79 ffirde 1 fefa oo f yemm o -

31.3.2023 = W Tg fefiee w1 feufe faawor
e Me g, | 31.3.2023 [ 31.3.2022
] ® ®
I AT 9 e ;
1. 3AYYRe FHieET
(a) 31 14,00,000 | 10,00,000
(b) T UG AT 1 5,00,000 | 4,00,000
2. 3FEd ¢FAmd
relepTefM 38U 5,00,000 | 1,40,000
3. =Te] ¢Fand
(a) AT <F 1,00,000 60,000
(b) G- JTFEH 2 80,000 60,000
25,80,000 | 16,60,000
I1 giEmREt
1. =« qREmfEt
(a) TRt gfEm T
M)
(i) w5 feefEr 3 | 16,00,000 | 9,00,000
(Ui, T3 Td 3UHN)
(ii) Wm 4 1,40,000 | 2,00,000
2.
(a) ik (HIeTg=) 2,50,000 | 2,00,000
(b) ST ITH 5,00,000 | 3,00,000
(c) UhS Td Uhg qod 90,000 60,000
25,80,000 | 16,60,000
@l < e
dieq. Taewor 31.3.2023 | 31.3.2022
® ®
1. | 999 Ug 3R
A -2T forawor =61 39 5,00,000 | 4,00,000
5,00,000 | 4,00,000
2. | Tg-afy yay :
EZSICLIC] 80,000 60,000
80,000 60,000
3. | v ufewfo
(gut, T qUT 3UHT)
RRIeh 18,50,000 | 10,00,000
T : ThA Toag™ (2,50,000) | (1,00,000)
16,00,000 | 9,00,000
4. %ﬂﬁ&lﬂﬁ?ﬁ
1,40,000 | 2,00,000
1,40,000 | 2,00,000
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34. Following is the Balance Sheet of Bharat Gas Ltd. as at 31.3.2023 :
Balance Sheet of Bharat Gas Ltd. as at 31.3.2023

Particulars Note | 31.3.2023 | 31.3.2022
No. ®) ®)
I Equity and Liabilities :
1. Shareholders’ funds
(a) Share capital 14,00,000 | 10,00,000
(b) Reserves and Surplus 1 5,00,000 | 4,00,000
2. Non-current Liabilities
Long term borrowings 5,00,000 | 1,40,000
3. Current liabilities
(a) Trade payables 1,00,000 60,000
(b) Short term provisions 2 80,000 60,000
Total 25,80,000 | 16,60,000
II Assets:
1. Non-current Assets
(a) Fixed Assets
(Property, plant & equipment
and intangible assets)
(1) Tangible assets 3 16,00,000 | 9,00,000
(Property, plant & equipment)
(11) Intangible assets 4 1,40,000 | 2,00,000
2. Current Assets
(a) Inventories 2,50,000 | 2,00,000
(b) Trade receivables 5,00,000 | 3,00,000
(¢) Cash and cash equivalents 90,000 60,000
Total 25,80,000 | 16,60,000
Notes to Accounts :
Note Particulars 31.3.2023 | 31.3.2022
No. ®) ®)
1. | Reserves and Surplus :
Balance in Statement of Profit and Loss 5,00,000 4,00,000
5,00,000 4,00,000
2. | Short term provisions :
Provision for Taxation 80,000 60,000
80,000 60,000
3. | Tangible Assets :
(Property, plant and equipment)
Machinery 18,50,000 | 10,00,000
Less : Accumulated Depreciation (2,560,000) | (1,00,000)
16,00,000 9,00,000
4. | Intangible Assets :
Goodwill 1,40,000 2,00,000
1,40,000 2,00,000
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27.

28.

29.

30.

31.

Fafafia =T : a9 & SRH T 3,00,000 AW <t Teh H3fH oI, ford W wehfaa qeagm@
% 45,000 T, ¥ 1,35,000 H =1 =T |
et TshaTeReTdl 8 Uehe YaTg hl TUMT HIfST |

0T -g
faspeq - 11
(TrhieT wi@e)
(a) TEEd Ffeiad § 8 H § T S=Te 998l ol 99 Ted ol &
(A)  TOT AT TAT ST (B) T AT AT 0T AT
(C) @TdTeh AT IUT AT (D) EHT qUT W &
GO
(b) THEA 2007 T TeraT dfFaal Iuctsd Bl & ?
(A) 5663 (B) 65536
(C) 172257 (D) 4332
T ¥ Tuer 91 dey et ‘Tfsa e’ o ge=e hE hi St B 2
(A)  $ Toga =1 v Fh (B) £ Torga =1 W Hh
(C) # Torga =1 W b (D) ~ forga =1 w= s
(a) T H TErId T T THT VT S Teh ST Wl i SATHEIIhd &, STHT STl & :
(A) I @I (B) =21 3A
(C) iR wse (D) ©ig
GO

(b) TS T TA. . 5.0A. 08, (LABELS) 1 372 2
(A) Th eae Fyan fafire gt
(B) dfercaait, Tl 31 oiTereh get 3 fore w3 femarn St 2 |
(C) TITOTHa &9 1 Iu=Te foha ST Eehall 2 |
(D) (A) e (B) eHi

= 1§ 9 hH 91 HiHeaRR A MuHEar T s S99 gvifad g U7 iR €21 U

SHE R ?
(A) e (B) @ffther
(C) SHfER (D) (A) @ (B) gAI

SCTEXUTT <h! TERIAT & “3TIshiiieh i’ IUT ‘Sclich hig ohl THZTT |
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Adjustments : During the year a machine costing ¥ 3,00,000 on which
accumulated depreciation was ¥ 45,000 was sold for T 1,35,000.

Calculate ‘Cash flows from Operating Activities’. 6

PART -B
OPTION -11
(Computerised Accounting)

27. (a) Excel considers which of the following group of mathematical
operations of equal importance ?

(A) Multiplication and Addition (B) Division and Multiplication

(C) Exponent and Multiplication (D) Subtraction and Division 1
OR
(b) How many rows are available in Excel 2007 ?
(A) 5663 (B) 65536
(C) 172257 (D) 4332 1

28. How are ‘absolute cell references’ and ‘mixed reference’ identified in Excel ?
(A) using $ sign (B) using £ sign
(C) using # sign (D) using ~ sign 1

29. (a) ‘A piece of information shown in a graph which is assigned to the
data series’ is known as :

(A) data point (B) data table
(C) plot point (D) legend 1
OR

(b) ‘LABELS’ in Excel means :
(A) A text or special character
(B) Used for rows, columns or descriptive information

(C) Can be treated mathematically
(D) (A) and (B) both 1

30. Which of the following type of software suffers from the limitation of low
secrecy level and software being prone to data frauds ?

(A) tailored (B) specific
(C) generic (D) (A) and (B) both 1
31. Explain ‘Sequential Codes’ and ‘Block Codes’ with examples. 3
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32. UHEA ¥ GHE G A T’ 1 v 69 femar STt @ 7 THesy |

33. (a) Sool@ IR foh Th =1 ! gaei hi STETTHA] &1 TSl & 7 38 hY Faell S
Hehdl & ? Ig HI hal JIdT & foh Teh hicH T hl -1 § ST TEH Bidl
2 2 BT AT |

3AYdT
(b)  SNYHITT IGTeRT TUTTEAT & SATHT T IJooig HINTT |

34. : .

Insert Page layout Formulas Data Review  View

Calibri  ~111 - A A o Eﬁ L7

L BIU--H-d A= € B

. ¥ Format Painter : s : N e e b

Clipboard T Font i~ Alignment %

B13 - X v R

4 A s bods E T he G, H
1 | w4 | sEr vorm e P gt o | o : T e
2| 1 T 10000 15000 25000

3] 2 El 40000 35000 75000
4| 3 kil 25000 40000 65000

5| 4 il 30000 50000 80000
6| 5 3 34000 45000 79000
7] 6 TH 12000f 30000 42000
8| 7 Ell 38000 56000 94000

Fehuiie 1 TN hid 7Y feu MU ‘diggsham’ are fa=ma (VLOOKUP f&aw) Ffe qen
3Hoh U 1 IdT 7ST |

(i) =diegpam &ft1, 2 :38, 2, 0)

(i) = THRIIE (FehaTd (S5, 8 : 38, 2, 0) — 100000)
(iii) = <iefehaTd (T2, U2 : TS, 2, 0)

(iv) =diegham &2, i3, 24, 5, 0)

(v) =dioham (&2, T2 : 38, 0, 0)

(vi) =diegham (&2, 2, 38, 2, 0)/0
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32. How to use ‘Mark Common Formula Error’ in Excel ? Explain.

33. (a) State why do you need to change a chart ? How can it be changed ?
Why is it said that changing a column chart to a pie chart is easy ?
Give reasons.

OR

(b) State the advantages of computerized accounting system.

5

34.

Formulas Data Review View {/ Tell me what y

Insert  Page Layout

Calibri
Paste - i) v
. ¥ Format Painter I U
Clipboard fa Font i Alignment i

B13 - > Ko

4 A7 C D E | {5 Gip H
1 |S. No| Product | Q1 sales | Q2 Sales | Total half yearly sales

2 1 A 10000 15000 25000

3 2 B 40000 35000 75000

4 3 C 25000 40000 65000

5] 4 D 30000 50000 80000

6] 5 E 34000 45000 79000

7 6 F 12000 30000 42000

81 7 G 38000 56000 94000

Using the worksheet find out the error and its reason for the given
‘VLOOKUP’ syntax.

(i) =VLOOKUP (B1, B2: ES, 2, 0)

(i) =SQRT (VLOOKUP (B5, BS : ES, 2, 0) — 100000)
(ili) = VLOOKUP (A2, A2 : A8, 2, 0)

(iv) = VLOOKUP (B2, B3, E4, 5, 0)

(v) =VLOOKUP (B2, A2 : ES8, 0, 0)

(vi) = VLOOKUP (B2, B2, ES, 2, 0)/0
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2024
ACCOUNTANCY (055)
Paper Code: (67/4/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment
of the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the examinations
conducted, Evaluation done and several other aspects. Its’ leakage to public in any manner could
lead to derailment of the examination system and affect the life and future of millions of
candidates. Sharing this policy/document to anyone, publishing in any magazine and printing in
News Paper/Website etc may invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be
strictly adhered to and religiously followed. However, while evaluating, answers which are based
on latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The students
can have their own expression and if the expression is correct, the due marks should be awarded
accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( V ) wherever answer is correct. For wrong answer CROSS ‘X” be marked.

Evaluators will not put right (v')while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totalled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.




9 If a student has attempted an extra question, answer of the question deserving more marks should
be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 A full scale of 80 marks as given in question paper has to be used. Please do not hesitate to award
full marks if the answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines)

13 Ensure that you do not make the following common types of errors committed by the Examiner in
the past:-
® Leaving answer or part thereof unassessed in an answer book.
® Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.




MARKING SCHEME
Senior School Certificate Examination 2024

ACCOUNTANCY (Subject Code-055)
[ Paper Code : 67/4/3 ]

Maximum Marks : 80
PART -A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)
Q.No. EXPECTED ANSWER / VALUE POINTS Marks
1. Q. (a) Arnav Ltd.......ccceverenrnrennssncsncseesnssnnans 1Mark
Ans. (B) 25,000
Or or
Q. (b) ON 15t May,2023.....ccceererreeseerseessnesseons
Ans. (C) X1,00,000 1Mark
2. Q. Gupta and Sharma.........cccecverrrrrcerceeecceecnnens
Ans. (B) 11:4:5 1Mark
3. Q. On the dissolutioN.........coceereriieeie e e eresseneees
Ans. (C) Cash A/c by 19,800 1Mark
4. [0 TR § IR 7=Y 4 Vo [0 T 3
Ans. (C) Capital Reserve Account 1Mark
5. Q. (a) Riya, Rita and.........ccceeerververcercercerseesnnenns
Ans. (B) 6% p.a. 1Mark
Or
or
Q. (b) Ravi, Vani and .........cccccevcvrvvrvercnrcencenennns
Ans. (D) 32,000 1Mark
6. Q. As per the provisions..........ccceeevuissensnnseessnnssnnnas
Ans. (B) issue of partly paid bonus shares 1Mark
7. Q. (a) Vishant Ltd. ......cccccevrrcrrceriersencensecseesnesannns
Ans. (B) 319,000 1Mark
Or or
Q. (b) M Ltd. forfeited ........ccerverververnrrcercerceesnnnanns
Ans. (B) 10,000 1Mark
8. Q.(a) Which one of........ccceceeveereecnnnncnissesssssssennens 1Mark
Ans. (C) Rent paid to partners
Or or
Q.(b) Atthe time Of .......cccceveeveecrcririrsrresnne
Ans. (A) debited to Revaluation Account 1Mark
9. Q. Vishnu and Mishu..........ccririveeeerericssenerenssennne 1Mark
Ans. (C) 4 % months




Read the following hypothetical..........cccccevervuurennnans

10. Q. INtErest ON .....cvcvieiiiriiieiiienieeereereeeene e e eneenes

Ans. (B) 45,000 1Mark
11. Q. Interest on capital......ccceeerrveereccercrseerceercsersnennes

Ans. (A) 5:4 1Mark
12. Q. (a) Vanya and Aanya........cccceeervereeenennensensnnsnnes 1Mark

Ans. (A) 45,000

Or or

Q. (b) Omkar and Shiva.........cccccecvrrrcrrcrrsersencnnas

Ans. (D) %3,00,000 1Mark
13. Q. Kanha, Resham and..........cccceeveveeurrrrerinnennns 1Mark

Ans. (B) 10% p.a.
14. Q. ASSErtion (A) ....cccceecereersersessessenseessesnnssnsnsens

Ans. (A) Both Assertion(A) and Reason(R) are correct and Reason (R) is the correct

explanation of Assertion (A). 1Mark
15. Q. Aditya, Vishesh and Nimesh............c.ccecceeuu.e..

Ans. (C)5:2 1Mark
16. (0 T XYY =T ¢« [0 ] 1 OO

Ans. (A) Both Assertion(A) and Reason(R) are correct and Reason (R) is the correct

explanation of Assertion (A). 1 Mark
17.

Q. Nita, Mita....ccocvirrnrineriireneiee i ssseeneneeseneeene e
Ans. Books of Nita, Mita and Karan
Journal

L.F Debit Credit

Date | Particulars Amount | Amount
(X) X)
2023 | General Reserve A/c Dr 70,000
Aprl To Nita’s Capital A/c 28,000
To Mita’s Capital A/c 21,000
To Karan’s Capital A/c 21,000

(General Reserve, transferred to partners’
capital accounts in old ratio)

Nita’s Capital A/c Dr 16,000
“ Mita’s Capital A/c Dr 12,000
Karan’s Capital A/c Dr 12,000

To Revaluation A/c 40,000

(Loss on revaluation transferred to partners’
capital accounts in old ratio)




Mita’s Capital A/c Dr 10,000
“ Karan’s Capital A/c Dr 10,000
To Nita’s Capital A/c 20,000 1x 3
(Share of goodwill adjusted to partners’ =
capital account in their sacrificing / gaining Marks
ratio )
Note- No marks to be awarded for calculation of Sacrificing/ Gaining Share.
18. Q. (a) Aayush and Krish..........ccceevrrrercnnrnssecsncsnnn
Ans.
Capital Employed= Aayush’s Capital+ Krish’s Capital + General Reserve
=%90,000+%50,000+%20,000
=%1,60,000
Or
Capital Employed= Total Assets- External Liabilities (Loan+ Creditors)
=X1,90,000-%25,000-%5,000
=X1,60,000
Capital Employed=%1,60,000.........ccccoererrerrvereeennen. 2
Normal Profit= 12% of Capital Employed
=12/100 x <1,60,000
=R19,200 .oeceeeeeee s 2
Average Profit = 30,000
Super Profit = Average Profit - Normal Profit
=X30,000- 19,200
= 10,800 oo
Goodwill= Super Profit x No. of years of purchase
Firm’s Goodwill = 10,800 x 4
=X 43,200.....cccceireeerererrierereeeens 2
Vansh’s share of Goodwill=%43,200 x 1/3 3
=R14,400.....ccccrecerennnas 2 Marks
Or

Q.(b) Varun, Tarun.........eeeeeseesecsecsnssnssnssanssssnnes
Ans.




Books of Varun,Tarun, Arun and Barun

Journal
L.F Debit Credit
Date Particulars Amount | Amount
(X) (X)
Tarun’s Capital A/c Dr 75,000
2023 Barun’s Capital A/c. Dr 1,50,000
To Varun’s Capital A/c 75.000
March To Arun’s Capital A/c 1,50’,000
31 (Share of goodwill adjusted to capital
accounts of partners in their gaining ratio 1%
1:2)

Working Notes:

Calculation of Gaining Share:-

Gaining Share= New Share- Old Share
Varun’s Gain=1/3-5/12=-1/12 (Sacrifice)
Tarun’s Gain=1/3- 3/12=1/12

Barun’s Gain= 1/3-2/12=2/12 1=/2
Marks
Q. (a) Mahesh Ltd. .......ccocerververnernreneenerseesnsnssnnenns
Ans.
Books of Mahesh Ltd.
Journal
L.F Debit Credit
Date | Particulars Amount | Amount
(X) X)
(i)
Plant and Machinery A/c Dr 4,50,000
To Ish Ltd. 4,50,000
(Plant& Machinery purchased ) 1
(ii)
Ish Ltd. Dr 4,50,000
Discount on issue of Debentures A/c Dr 1,00,000
To Bank A/c 50,000
To 6% Debentures A/c 5,00,000
(Paid %50,000 by cheque & 5,000 debentures 2
issued at discount for consideration other
than cash. )




Alternatively
(ii) (a)

Ish Ltd. Dr 50,000
To Bank A/c 50,000
(Partial amount paid by cheque to Ish Ltd.)
(ii) (b)
Ish Ltd. Dr 4,00,000
Discount on issue of Debentures A/c Dr 1,00,000
To 6% Debentures A/c 5,00,000
(5,000 debentures issued at discount for
consideration other than cash.)
or
Q. (b) Manika Ltd........ccccevcvrurrnrncnncsecsnennnes
Ans. Books of Manika Ltd.
Journal
L.F Debit Credit
Date | Particulars Amount | Amount
(X) X)
Share Capital A/c Dr 50,000
To Forfeited Shares A/c 27,500
To Share first call A/c 10,000
To Share second& final call A/c 12,500
(Forfeiture of 500 shares for non payment of
first and second call)
Alternatively
Share Capital A/c Dr 50,000
To Forfeited Shares A/c 27,500
To Calls in Arrears A/c 22,500
(Forfeiture of 500 shares for non payment of
first and second call)
Bank A/c Dr 12,500
Forfeited Shares A/c Dr 12,500
To Share Capital A/c 25,000
(Reissue of 250 shares)
Forfeited Shares A/c Dr 1,250
To Capital Reserve A/c 1,250

(Balance in forfeited shares account
transferred to capital reserve account.)

Marks

1x3

Marks




20. Q. Rajesh and Anu ........cvrceerccrrcerecceensserssennnes
Ans.
Books of Rajesh and Anu
Journal
L.F Debit Credit
Date Particulars Amount Amount
(X) (X)
Anu’s Current A/c Dr 36,000 1
To Rajesh’s Current A/c 36,000
(Adjustment for omission of Interest on
Capital)
Note:- If an examinee has written Capital A/c instead of Current A/c ,full credit is to be
given.
Working Notes:-
Adjustment Table
Particulars Rajesh Anu
Dr(X) Cr(X) Dr(X) Cr(X)
Interest on Capital to 72,000 36,000 2
be credited
Loss to be debited in 36,000 72,000
the ratio of 1:2
Net Effect 36,000 36,000
Marks
Note:- Full credit to be given if working notes are given in any other form.
21. Q. Ram, Ravi and.........ccrerevirmrereririnenerenenns
Ans.
Dr Rohan’s Capital A/c Cr
Particulars Amount Particulars Amount
X %
To Rohan’s By Balance b/d 2 3,00,000
’ 1
Executor'sA/c P4 | 340,500 | By General Reserve A/c 3,000
By Ram’s Capital A/c(goodwill) 12,000
By Ravi’s Capital A/c(goodwill) 18,000 _
By Profit &Loss Suspense A/c 7,500 Marks
3,40,500 3,40,500

Working Notes:




1. Calculation of Goodwill

Average profit= 45,000+90,000+1,35,000 = 90,000

3
Firm’s Goodwill= Average Profit x 2
=3%90,000 x 2
=X 1,80,000
Rohan’s share of goodwill= %1,80,000 x 1/6
=%30,000

2. Calculation of Rohan’s share of Profit= 90,000 x 1/6 x 6/12

=X7,500

Note- No marks to be awarded for working notes.

22.
Q. RONit Ltd.....cccoeeeeeerrererrener e cneeeeresenenes
Ans.
Balance Sheet of Ronit Ltd. (An Extract)
AS Atueeieeeeeierienens

Particulars Note No. R
I. EQUITY & LIABILITIES
Shareholders’ Funds
Share Capital.....ccccoevvvvrceierennnn. 1 40,68,000

Notes to Accounts
Particulars R
1.Share Capital
Authorized Capital
75,000 Equity Shares of 100 each................... 75,00,000
Issued Capital
45,000 Equity Shares of 100 €ach........ooooveevee.. 45,00,000
Subscribed Capital
Subscribed and fully paid up 143
38,700 Equity Shares of X100 each.................. % 38,70,000
+ Forfeited Shares A/c (3300 x 60).................. 2 1,98,000 =

Marks
40,68,000
23.

Q. (a) Anikesh and Bhavesh...................
Ans.




Books of Anikesh and Bhavesh

Journal
L.F Debit Credit
Date | Particulars Amount | Amount
(X) )
General Reserve A/c Dr 15,000
To Anikesh’s Capital A/c 10,500
To Bhavesh’s Capital A/c 4,500

(General Reserve balance transferred to
partners’ capital account in old ratio)

Cash/ Bank A/c Dr 1,20,000
To Chahat’s Capital A/c 90,000
To Premium for goodwill A/c 30,000

(Amount brought in by Chahat as her capital
and her share of goodwill)

Premium for goodwill A/c Dr 30,000
To Anikesh’s Capital A/c 21,000
To Bhavesh'’s Capital A/c 9,000

(Goodwill premium brought in by new
partner shared by old partners in their
sacrificing ratio)

Outstanding Wages A/c Dr 9 000
To Cash/ Bank A/c 9 000
(Outstanding wages paid)
Revaluation A/c Dr 12,300
To Stock A/c 6.000
To Creditors A/c 6.300
(Decrease in the value of stock and increase in
the value of creditors on revaluation recorded)
Anikesh’s Capital A/c Dr 8,610
Bhavesh’s Capital A/c Dr 3,690 1x6
_ 12,300 -
To Revaluation A/c M_ .
arks

(Loss on revaluation of assets and
reassessment of liabilities transferred to
partners’ capital account in old ratio)

Q. (b) Prina, Qadir and............cccceevverueneen.
Ans.




Dr Revaluation A/c Cr
Particulars Amount . Amount
Particulars
() (%)
To Building A/c ) 3,54,000 | By Land A/c A 3,60,000
To Provision for doubtful 6,000
debts A/c )
3,60,000 3,60,000
Dr Partners’ Capital A/c Cr
Particulars Prina Qadir Kian Particulars Prina Qadir Kian
X X X X X X
To Qadir’s 2,10,000 | - 30,000 | By balance b/d | 9,60,000 | 8,40,000 | 9,00,000
Capital A/c v,
e By Workmen | 2,80,000 | 80,000 | 40,000
To Qadir’s Compensation
Loan A/c 12,20,000 Reserve  A/c
v "4
To  Kian’s 7,40,000 | BY Prina’s 2,10,000
AJc " (goodwill)
By Kian’s 30,000
Capital A/c
(goodwill)
"4
By General | 2,10,000 60,000 30,000
Reserve A/c
%
By Prina’s 1.60.000
To Balance | 0000 B 5 00,000 | Current A/c
c/d % g v,
2|
16,10,000 | 12,20,000 | 9,70,000 16,10,000 | 12,20,000 | 9,70,000

1%

4%

Marks

24,

Q. (a) Lazal Ltd

Ans.

Books of Lazal Ltd.




Journal

Debit Credit
Date | Particulars Amount Amount
(X) )
Bank A/c Dr 16,00,000
To Equity Share Application A/c 16,00,000
(Application money received on
3,20,000 shares)
Equity Share Application A/c Dr 16,00,000
To Equity Share Capital A/c 10,00,000
To Equity Share Allotment A/c 5,00,000
To Bank A/c 1,00,000
(Application money transferred to
Equity share capital A/c, Excess
money received adjusted towards
allotment and money refunded on
rejected applications)
Equity Share Allotment A/c Dr 8,00,000
To Equity Share Capital A/c 4,00,000
To Securities Premium A/c 4,00,000
(Amount due on allotment)
Bank A/c Dr 2,85,000
Calls in Arrears A/c Dr 15,000
To Equity Share Allotment A/c 3,00,000
(Allotment money received except
that on 10,000 shares)
Alternatively
Bank A/c Dr 2,85,000
To Equity Share Allotment A/c 2,85,000
(Allotment money received except
that on 10,000 shares)
Equity Share First &Final Call A/c Dr 6,00,000
To Equity Share Capital A/c 6,00,000

(Amount due on 2,00,000 shares on
First Call)

%




Bank A/c Dr 5,70,000
Calls in Arrears A/c Dr 30,000
To Equity Share first &final call A/c 6,00,000
(Amount received on First Call)
Alternatively
Bank A/c Dr 5,70,000
To Equity Share first & final call A/c 5,70,000
(Amount received on First Call)
Equity Share Capital A/c Dr 1,00,000
Securities Premium A/c Dr 15,000
To Calls in Arrears A/c 45,000
To Forfeited Shares A/c 70,000
(Forfeiture of 10,000 shares for non
payment of allotment and call
money)
Alternatively
Equity Share Capital A/c Dr 1,00,000
Securities Premium A/c Dr 15,000
To Share Allotment A/c 15,000
To Shan-eﬁrst&ﬁnal call A/c 30,000
To Forfeited Shares A/c 70,000
(Forfeiture of 10,000 shares for non
payment of allotment and «call
money)
Or
Q. (b) Chand Ltd. invited.........cceeereereercerrunrenrannes
Ans.
Books of Chand Ltd.
Journal
Date | Particulars LF Debit Credit
Amount Amount

Marks




()

)

Bank A/c Dr
To Equity Share Application A/c

(Application money received on 1,80,000
shares)

Equity Share Application A/c Dr
To Equity Share Capital A/c
To Securities Premium A/c
To Equity Share Allotment A/c
To Bank A/c

(Application money transferred to Equity
share capital A/c, Excess money received
adjusted towards allotment and money
refunded on rejected applications)

Equity Share Allotment A/c Dr
To Equity Share Capital A/c
(Amount due on allotment)

Bank A/c Dr
To Equity Share Allotment A/c
(Allotment money received )

Equity Share first & final Call A/c Dr
To Equity Share Capital A/c
(Money due on First and Final Call)

Bank A/c Dr
Calls in Arrears A/c Dr
To Equity Share first & final call A/c

(First and final call money received
except that on 5,000 shares

Alternatively
Bank A/c Dr
To Equity Share first & final call A/c

(First and final call money received
except that on 5,000 shares)

Equity Share Capital A/c Dr
To Calls in Arrears A/c
To Forfeited Shares A/c

(Forfeiture of 5,000 shares for non
payment of first and final call )

7,20,000

7,20,000

5,00,000

3,00,000

3,00,000

2,85,000
15,000

2,85,000

50,000

7,20,000

2,00,000
2,00,000
2,00,000
1,20,000

5,00,000

3,00,000

3,00,000

3,00,000

2,85,000

15,000
35,000




Alternatively

Equity Share Capital A/c Dr 50,000
To Equity Share first & final call A/c 15,000 =
To Forfeited Shares A/c 35,000 Marks
(Forfeiture of 5,000 shares for non
payment of first and final call )
25. Q. Pass the necessary......c..ccoeerrrvennsnncsnnsas
Ans.
Books of Mohit & Rohit
Debit Credit
Date Particulars Amount Amount
(X) (X)
(i) Mohit’s Capital A/c Dr 7,000
To Realisation A/c 7,000
(Machine taken over by Mohit, a partner)
(ii) Rohit’s Loan A/c Dr 15,000
To Cash / Bank A/c 13,500
To Realisation A/c 1,500
(Partner’s loan account settled)
(iii) Mohit’s Capital A/c Dr 45,000
Cash/ Bank A/c Dr 60,000
To Realisation A/c 1,05,000
(Investments taken over by partner
partially and remaining realised)
(iv) Realisation A/c Dr 23,000
To Cash / Bank A/c 23,000
(Realisation expenses paid)
(v) Realisation A/c Dr 43,000
To Cash / Bank A/c 43,000
( Creditors settled at discount)
(vi) Mohit’s Capital A/c Dr 6,000
Rohit’s Capital A/c Dr 6,000 X6
To Realisation A/c 12,000 -
(Loss on realisation transferred to Partners’ Marks

Capital A/c)




26.

Q. Pass Necessary.......ceinnienn.

Ans. Books of Srijan Ltd.
Journal
Dat Particulars Debit Credit
e Amount Amount
X) (X)
(i) Bank A/c Dr 8,55,000
To Debenture Application and Allotment 8,55,000
A/c
(Application money on 6% Debentures
received)
Debenture Application and Allotment A/c Dr 8,55,000
Discount on issue of Debentures A/c Dr 45,000
To 6% Debentures A/c 9,00,000
(Debentures application money transferred
to 6% Debentures Account)
Securities Premium A/c Dr 45 000
To Discount on issue of Debentures A/c 45,000
(Discount on issue of debentures written off)
(ii)
Bank A/c Dr 6,30,000
To Debenture Application and Allotment 6,30,000
A/c
(Application money on 8% Debentures
received)
Debenture Application and Allotment A/c Dr 6,30,000
Loss on issue of Debentures A/c Dr 1,40,000
To 8% Debentures A/c 7,00,000
To Premium on redemption of Debentures 70.000
A/c
(Debentures application money transferred
to 8% Debentures A/c)
Alternatively
Debenture Application and Allotment A/c Dr 6.30.000
Discount on issue of Debentures A/c Dr 70.000
Loss on issue of Debentures A/c Dr 70.000
To 8% Debentures A/c 7,00,000
To Premium on redemption of Debentures 70,000

A/c
(Debentures application money transferred
to 8% Debentures A/c)




Securities Premium A/c Dr 1,00,000
Statement of Profit & Loss Dr 40,000 1
To Loss on issue of debentures A/c 1,40,000
(Loss on issue of debentures written off)
Alternatively
Securities Premium A/c Dr 1,00,000
Statement of Profit & Loss Dr 40,000 =
To Discount on issue of Debentures A/c 70,000 Marks
To Loss on issue of debentures A/c 70,000
(Loss on issue of debentures written off)
PART-B
OPTION -I
(Analysis of Financial Statements)
27. Q. (2) StALEMENL Lucueeeeeerereeecerereseeeerere s e sesesessssnesessnsens 1 Mark
Ans. (D ) Statement | is correct and Statement Il is incorrect.
Or Or
Q. (b) What will be the.........cccoveverereereeeeeceereneeeeeceene 1 Mark
Ans . (A) Outflow from Operating Activities
28. From the abOVe.........ceueeeeeeerereeenesesnssssssessssssessssessssssssssesens 1 Mark
Ans. (B) Outflow %3,20,000
29. Q. (2)The t0O] Of...uervreereecerererrererere e resere e sessssssssesenans 1 Mark
Ans. (D) Ratio Analysis
Or Or
Q. (b) 1S AlSO....ccviveieeeitceece e 1Mark
Ans. (B) Quick ratio
30. QUICK RO c.ueeeeieeceriere et sesssecsssaesessssesssssenssaesssnssnsnsans 1 Mark
Ans. (C) Purchase of goods for cash X38,000.
31 Q. UNAEr WHiCh......cceeeeeeeecerene e e seesssssssssssssesessesesessssees
Ans.
Item Major Head Sub Head
i Capital Advances Non- Current Assets Long term Loans &
Advances %x6
i Income received in Current Liabilities O.tht_er . Current :/Ia?ks
advance Liabilities
iii Stores and Spare Parts Current Assets Inventories




32.

Ans.

Cost of Revenue from Operations= %6,00,000

Q. The aVerage.......ccevvrrreerecrenneecseensseesssesssnssssssesseens

Revenue from Operations= Cost of Revenue from Operations + Gross Profit
Inventory Turnover Ratio= Cost of Revenue from Operations/ Average inventory...... Z
Therefore, 6= Cost of Revenue from Operations/1,00,000

Revenue from Operations= 6,00,000 + 25% of Revenue from Operations
Revenue from Operations= 6,00,000 + Revenue from Operations

4
Revenue from Operations= 6,00,000 x 4
3 3
Revenue from Operations= X8,00,000.............cccceurervrueuremresreiesrreessesseesesssssesssssessssssssssssssnses Marks
33. Q.(a) Prepare a........ceveuvevereenrereenes
Ans.
Common Size Balance Sheet of X Ltd. as at 31.3.2022 and 31.3.2023
Particulars Not | Absolute Absolute % of % of
e Amount Amount Balance Balance
No. | 31.3.2022 | 31.3.2023 Sheet Total | Sheet Total
S R 31.3.2022 31.3.2023
I. Equity and Liabilities:
1. Shareholders’ Funds
(a) Equity Share Capital 15,00,000 | 30,00,000 30 37.5 %
(b) Reserves and Surplus 5,00,000 10,00,000 10 12.5 A
2. Non-current liabilities 20,00,000 20,00,000 40 25 %
3. Current Liabilities 10,00,000 20,00,000 20 25 v
TOTAL 50,00,000 | 80,00,000 100 100 v
Il. Assets:
1.Non-current Assets 30,00,000 | 40,00,000 60 50 %
2. Current Assets
(a) Inventories 20,00,000 | 40,00,000 40 50 %
TOTAL 50,00,000 | 80,00,000 100 100 %
Or = 4
Q.(b) From the following..........cc........ Marks
Ans.
Comparative Statement of Profit and Loss of Y Ltd.
for the year ended 31.3.2023
Particulars Not | 31.3.2022 | 31.3.2023 Absolute %
e g g Increase/Decre | Increase/
No. ase Decrease
X
I. Revenue from 20,00,000 | 40,00,000 20,00,000 100
Operations Y%
II. EXPENSES




Purchase of Stock in trade 12,00,000 | 24,00,000 12,00,000 100 %
Change in inventories 2,40,000 6,00,000 3,60,000 150 Y%
Other expenses 1,60,000 2,00,000 40,000 25 %
TOTAL 16,00,000 | 32,00,000 16,00,000 100
[1l. Profit before Tax (I-1) 4,00,000 8,00,000 4,00,000 100 1
IV. Tax@40% 1,60,000 3,20,000 1,60,000 100 %
V. Profit after Tax 2,40,000 4,80,000 2,40,000 100 ”
(m-1v) _
Marks
34. Q. Following is the.........ccccueerreeerneennns
Ans.
Cash flow from Operating Activities
) Amount Amount
Particulars « «
Net Profit before Tax & Extra Ordinary Items 1,80,000
Adjustment for Non-cash and Non-operating items
Add:
Goodwill written off .................... 60,000
Depreciation .......ccccevveeivcnnniennen, 1,95,000
Loss on sale of Machinery 1.20.000
Operating Profit before working capital changes 5,55,000
Add- Decrease in Current Assets Increase in
Current Liability 40,000
Increase in Trade Payables.............. Z
Less: Increase in Current Assets Decrease in Current
Liability
Increase in Inventories ............ Y (50,000)
Increase in Trade Receivables ........ A (2,00,000) 5
Cash Generated from Operations 3,45,000
Less: Tax Paid....... Z —(60,000)
Cash flow from operating activities... 2,85,000
Calculation of Net Profit before Tax and Extraordinary items...........................
Net Profit for the year %1,00,000 1
+ Provision for tax + 380,000
Net Profit before Tax and Extraordinary items=  1,80,000
Working Notes:-
Dr Accumulated Depreciation A/c Cr
Particulars X Particulars R
To Machinery A/c | 45,000 By balance b/d 1,00,000 =
To balance c/d 2,50,000 By Depreciation A/c 1,95,000 6
Marks
2,95,000 2,95,000

Note:- No marks to be awarded for working notes.




PART-B
OPTION -1l
(Computerised Accounting)

27.

Q. (a) Excel considers.........cccceeveveevrrunnes
Ans. (B) Division and Multiplication

Or
Q. (b) How many rows..........cccceeevrernrnes
Ans. (B) 65536

1Mark

Or
1Mark

28.

Ans. (A) Using S sign

1Mark

29.

Q. (a) ‘A piece Of......cccevcevcreerrecnenans
Ans. (D) legend

Q. (D) ‘LABELS’ ee.eereeeeserenessssneees
Ans. (D) (A) and (B) both

1Mark

Or
1Mark

30.

Q. Which of the.......ccccevrerrvrvcnerereriennen
Ans. (C) generic

1Mark

31.

Sequential codes:

Numbers and /or letters are assigned in consecutive order. These codes are applied primarily
to source documents such as cheque ,invoices etc. This code can facilitate searches. This
process enables in either identification of missing codes relating to a particular document or
a relevant document can be traced on the basis of code.

For example
A creditor Rohit Ltd can be given a code CLOO1-Rohit Ltd.
Similarly for MS Raj
Block codes:
A range of numbers is partitioned into a desired number of sub ranges and each subrange is
allotted to a specific group . In most of the uses of block codes, numbers within a subrange
follow sequential coding scheme.
e.g.
Codes Dealer type
100-199 Small pump
200-299 Medium pump
300-399 Pipes
Or any other suitable example.

1% x2

Marks

32.

Q. HOW t0 USE....ccoeerreerrrernnennenenneecnecnnns

Ans.
Following are the steps to mark common formula errors:
(i) Click the Microsoft Office button, click Excel options and then click the formulas
category.
(ii) In the error checking section, select the Enable background error checking check
box.

(iii) To change the colour of the triangle, that marks where an error occurs in the
indicate errors using the colour box, select a new colour.




(iv) Select a cell with triangle in top left corner of a cell.

(v) Next to the cell click error checking button that appears, and then click the option | % x6
that we want. The commands are different for each type of error and the first =3
entry describes the error. If we click Ignore Error, the error is marked to be | parks
ignored for each consecutive check.

e Repeat the two previous steps

33. Q.(a) State why do......cccceerurerereennee.
Ans.
A chart can be changed to another type 1

(i) To give it a different look

(ii) To serve a different purpose

It is easy to change from column chart or bar chart to pie chart because
1.0nly one data series is used to plot. 3
2.the plotted data values are positive. =4
3.the data values are not equal to zero. Marks
Or Or
Q. (b) State the ......cccccevverververceennene
Ans.
Following are the advantages of CAS (Any four): 1x4
1. Timely generation of reports and information in desired format. =
2. Efficient record keeping marks
3. Ensures effective control over the system
4. Economy in processing the accounting data.
5. Confidentiality of data is maintained
Transparency in recording of data, helps in avoiding frauds.
34. Q. Using the.......ccceceuuuueee. % mark
Ans. each

()  Emor#N/A o id:;’:ify
Reason- Value being looked up is not in array range. ing the

(ii) Error # NUM! error
Reason- Negative value in square root function is invalid. +

(iii) Error # N/A ”
Reason- Lookup value is less than the array range provided.

(iv)  Error # REF! Mark
Reason- The column value being searched is greater than array range provided. fsf::e

(v) Error # VALUE! reason
Reason- Value being searched is not available as column does not exist. 6

(vi) Error # DIV/0!

marks

Reason- Value searched is being divided by zero.
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